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75 + 1,000 =

1
2 100 + 1,705 =
I 2
3 — 4 — =
6

1 mark
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203 =1 =

4
5 260-80=
6 5.1+1.86=

1 mark
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= 3,400 + 800

7
8 7 xX31=
9 99 -9 =

1 mark
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432 X 6 =
10

1 mark

11 3,218 - 756 =

1 mark

e 10

100 100

1 mark
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13

- 400 =1,200

1 mark
14 75-(8+2)=
1 mark
1 2_
15 275"
1 mark
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60 x 30 =

16
17 144 212 =
18 400 + 10 =

1 mark
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7.8 x100 =

19
1 mark
20 7 —5.45
1 mark
_1 4 5 I 3 0 8 2 5
Show
your
method
2 mark
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8 —3.27 =

22
1 mark
23
3 0
Show
your
method
2 mark
24 10% x 60,000 =
1 mark
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80% of 700 =

25
1 mark
26
6 0 1
X 4 2
Show
your
method
2 mark
ay [7.1-1.7=
1 mark
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\1|>—A

28

1 marks

1 mark

30 99% of 500 =

1 mark
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4 1
5 3
31
1 mark
33
7 7 I 5 2 3 6
Show
your
method
2 marks
1 4
33 13 4+ 7
1 mark
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0.3x20 =

1 mark

12x30

1 mark

1 mark
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Arithmetic 8 Answers

1,075 1.55
1,805 685
3 , 4.73
5 or equivalent
203 54,432
180 6,000
6.96 560
4,200 25,242
217 5.4
11 10/21
2,592
1
40
2,462 495
7
i or equivalent 15
100
1,600 68
71 1 19/54
6
2 :
— or equivalent
20
1,800 45
12 1
15
40
780
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